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NESTRUCTIONS

Brwr

1. Please correctly &l vour Roll Numbar in QMR
Shest, Candidate will themsalf be responsible for
filling wrong Roll No.

2, Al the start of the examination before atiempling
the guestion paper kindly check vour {est booklet
and OMR Answer Sheet and ensure that :

* The serigl numbers of test bookiet and OMR
answer sheel are same.

* Al pages of test booklet and OMR answer shesl
are properly printed. All questions from S.No. 1 to
last B.No. 200 are printed and pages from S.No.
1 1o last 5. Mo, 32 are there in the question bookiet.

In case of any discrepancy / defeci the candidate

should immediately report the malter {o the invigilator

for replacerment of test booklet and OMR answer
sheet. Mo claim / objection in this regard will be
senterizined after five minutes of siart of examination.

Candidats will be liable for it.

3. Answer all questions.

All questions carry equal marks,

Cniy one answer is to be given for each question.

if rriore than one answers are marked, it wouid be

tregied as wrong answer.

Each quastion has four allernative responses

marked seriaily as (A}, {B), {T}, (D). You have io

darken only one circle or bubble indicating the
correct answer on he Answer Shest using BLUE

BALL POINT PEN,

#. Use of Mobile Phone/Bluetooth Devices or any
other siectronic gadget in the examination hall is
stricily prohibiied. I any such prohibited material
found with any candidate, strict action will be iaken
against him/her as per rule,

8. If there is any sort of ambiguity/mistakes either of
printing or factual nature in Hindi and English
Yarsion of the question, the English Version will
be treated as standard,

Warning : if 2 candidate is found copying or if any

unauthorized material is found in his/her possession,

FLR. wouid be lodged against him/her in the Police

Station and he/she would llable to be prosecuted under

Section 3 of the State Prevention of Unfair means

Act, 1882 and Board Reguiations. Board rray also

debar him/her perrmanently from all future examination

of the Board.
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PART-A / %rrA

1 'Jhakham Multipurpose Project’ is located -

(A} Jochpur

{B) Dungarpur

(C) Pratapgarh

(D) Banswara

AT TgEEst uieeE aeRys
(A) Sremy

(B) gmyr

(C) werem

(D) wiaengr

2 Shergarh Wildlife Sanctuary is situated
which district of Rajasthan 2
(A) Sirohi
{B) Basan
{(C) Kota
(D) Bundi

T Tl AT T B R || 6

i 77
(A) T
(B) =t
(C) =
(D) &

3 Where is Dood Babri located 9
{A) Ratangarh
(B) Chittorgarh
(C) Mount Abu
{D) Lunkaransar
3Y el el fwy £ 7
(A) wETme
(B) Rrigms
(C) . "reve smg
(D) wuiBTET

4 Govind Giri belonged to which caste 9
(A) Bheel
(B) Garasiya
(C) Banjara
(D) Kalbeliva
e T form wfy & wefer o
(A dw
(B) ol
(C) =
(D) ey
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Which one of the following is not correctly
matched 7

Breed Animal

(A} Nali —  Sheep

(B3} Nagauri - Cow

(C} Shekhawati -~  Goat

(D) Maipuri -~ Buffalg

Fefefes % & &9 @ v wd Al T ¥ e
Y 9]

(A) =melt - %

(B) awirdy )

(©) dmmErdr -~ amh
D) meglt - &g

Which dam ig constructed on the
downstream (Near} of the Chulia Falls in
Rajasthan ?

(A) Ranapratap

(B) Gandhisagar

(C) Bajajsagar

D) .?awaharsagar

AR T & B s (o) oo ¥
B AT qig A B

(A) TemgaTg

(B) miefamre

(C) SomsTErTT

(D) sramecEm

Baithali minor irrigation scheme jg located
at —

(A) Kota

(B} Jhalaway

(C) Baran

(3} Chittorgarh

Sud 7y e oftmr sfiag & -
(A) B &

(B) e ¥

(C) I o

(D) frdem ¥
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1% The winter rainfail in Rajasthan is the result

| PART-A / WA
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Which of the fbiiowing Tahbsil is located in
the Southernmost part of Rajasthan 7

(A) Kushalgarh

(B) CGhatel

(C) Bagidora

(I3) Garld

Teiorie o @ W ) gedie e & iy
wT ¥ R ¥ 7

(A) BRETE
(B} mem
(C) s
(D) T
Which of the following pair is not correctly
maiched ?
River Place of Origin
{A) Banas - Khamnor Hiils
{B) Banganga - Bairath Hills
(C) Kantli — Khandela Hills
(D) Kakni —  Kumbhalgarh Hills
Preafafes o ¥ § o0 w9 gafra i ¥ 7
B ET O '-
(&) T ~  EYEIT U
(B) sw - W wEd
(C) =i ~ el W
(D) @ - TS eI

of cyclones, which originate from —
(A} Red Sea

{B) Black Sea

(C) Arabian Ses

(D) Mediterranean Sea

e 4 s 9wl o Ty &
QIOIARTET B ¥, S 9T B § -
(A) wreT |r &

(B) wrem g ¥

(C) aE g %

(D) e wey #

13

12

13
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Which one of the {ollowing is not correctly
matched 7

Iron Ore Mining Ares
{A) Bagol, ~  Jhunjhunu

Sarai-Pachiangi

Diisiries

{B) Neemla-Raisela — MNagaur

() Chomu-Samod —~  Jaipur

(D) Loharpura —  Bundi
et & © e oo wl gite T R0
&5 s w8 firay

(A) TWiEl, gOO-wEe T - R

(B) Arm-Edar — AT

(C) A - g

(D) @Ry - @

The smallest Agro-Climate region in
Rajasthan is —

(A} Arid Western Plain

(B) Humid Southern Plain

{(C) Semi Arid Eastern Plain

(I} Humid South-Eastern Plain

TR H ey WiE Hh-wAey wee ¥
(A) s ulyedy daw

(B) o sl e

(€) sqdy= gl A

(D) o herer-gay dary

Jhamar Kotara mines are known for —
(A) Rock Phosphate

(B} Gypsum

(C) Bauxite

{3 Mica

(A % wrese

(B) faem

(C) vz

(D) 1w

[coMMON FoR aLL] | Contd...
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4 As per 'Thornthwalte's’, climatic || 17 Which one of the following pairs 1s not

is

16
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(B) Bhilwara

classification which of the following
represents climate of Jaisalmer 7

‘U & TR S % AER Prefataa
F W w W S % SRR B WEE
g7

(A) BEAY
(B) DA'w
(C) CAw
(D) DB'w

Tropical Thorn forests are found in which
district of Rajasthan ?

(A} Ajmer

(B} Jaipur

(C) Jaisalmer

(D) Dholpur

TSI & 0 Faet o swrafesiin s s
T O B Y

(A) T

(B) vy

(C) SrgemT

(D) st

Identify the incorrect pair of wildlife mascot
preseribed for districts issued by Forest

Department of Rajasthan Government.
(A) Alwar —~  Tiger

Peacock

!

{C} Bharatpur waras {Crane)

(D) lalore ~ DBear

ST G & 9 faet 2 il Rl 3
i avosiig yeav & Ty 97 o Tea |
(&) orET -~ Wm

(B) dwarer - =R

(C) wwge - WX (@)

(D) wmEr -~ MR

1%

correctly matched 7
Lift Cansl
(A) Kolayat -
(B} Gainer -
{C) Falaudi — Jaisalmer, Bikaner
(I3} Bangarsar — Bikaner, Jaisalmer

Prefifa § ¥ 9w g g wE B Y

Profited Disiriets
Jodhpur, Bikaner
Bikaner, Nagaur

e wae wraa R
(A) weas — WYY, deEET
(B) o —- g, Wi
(C) wERt - ST, SR
(D) TmEEY —~ AW, FETAT

Which of the following is not the traditional
method of water conservation in Rajasthan?
(A) Nali

{B) Naadi

(¢ Toba

{D) Johad ;

Frefled o ¥ @ W T o deT o)
T faf wE # 2

(A) =

(B) ==

(C) Zmn

(D) =%

The long term Road Network development
planning of State/Rajasthan Government is

(A) Rajasthan Road Vision — 2020

(B} Rajasthan Road Vision — 2022

(C) Rajasthan Road Vision — 2025

(D3} Rajasthan Reoad Vision — 2027
T[T GBI f 5% o & (90 &
fom Sredewim oo L F

(A) e U fase - 2020

(B) T U8 T - 2022

(C) T U5 e - 2025

(D) Temam % fas= - 2027

[COMMON FOR ALL| { Contd...
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At which place in Kajasthan Tree Festival
is celebrated on 121 September every year?
(A} Mandore

(B) Falaudi

(C) Khejadli

(D) Ratanada

TSRET o e W W aired 12 Ree
TaT AR WA S 87

(A) BT
(B) el
(©) gwsan
(D) TErRt
21 The 'Central Institute of Arid Horticulture'
is situated at —
{A Bammer
(B) Ajmer
(C} Jodhpur
() Bikaner
YR B wrTET SR Bl e ¥ 7
(A) wrgdy
(B) @@
(C) Hrage
(D) desre
22 Bikaner District falls in which Agro-
Climate region of Rajasthan ?
(A) A, Arid Western Plain
(B} I-B, Irrigated North-Western Plain
() I-C, Hyper Arid and Partial Trrigated
Plain
(D) II-A, Inland Drainage Region
T BT MY T e W piy-weEy
SR H AT ¥ 7
(A) I-A, 7= oyl fem
(B) I-B, fiftg sw-—afyedt dzm
() I-C, vma o wd o Rt e
(D) I-A, SE¥aE % 3By
825G4 ]

3

24

in which place the Chandrasen of Marwar
organised Military to struggle with
Mughals?

(AY Bhadrajune

B
) Kamuia

A
i
I3y Kharatal

1 X
{3 Lohavat
{
AN
F
N

1s

aEE % wEw © el o et & f R
@ U S o ey R 7

(A) W

(B) wieme

(C) wregs

(D) wereE

The ruier who ruled during the period of
three Mugha! Emperors 7

{A) Sawai laisingh

(B) Mirja Raja Jaisingh
(C) Sawal Mansingh
(D) Sawai Pratapsingh

. B A e o R O T STl 6
o ¥ ames e e

25

(A) wa ie

(8 ot won safis
(C) g wis
(D)) geg ganafds

Ahar civilization also known as which
another name 7

{A} Ahadpur

(B) Agachhpur

(C}y Aaghaipur

(D) Aadhampur

3eT wwer Rew e wm 8§ o W ST ¥
{A) FTEIYT

{B) YR

(C) emeegy

(D) s

[coMmmon FoR aLL | Contd...
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26 When did the Treaty of Britishers take place

27

8
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with Karauli State 7

{A) November 9, 1817

(B) December 9, 1817

(C) February 9, 1818

(D) March 9, 12818

SIS & WY W o @ Wi a gd A 7
(A) 9 5=y, 1817

(By 9 fewmy, 1817

(C) 9 weEd, 1818

(D) 9=, 1818

Which archaeologist is crediied for
focussing light on "Kali Banga” Civilization
for the first time 7

(A) Amianand Ghosh

(B) B. B. Lal

(C) Balkrishna Thapar

(D) R. C. Agarwal

fow qUlE @ wom 91w A wemE @
WISt W @R @ 9 e e &0

(A) s iy

(B) &. & i

(C) SrwrgeT a1

(D) o, 9. s

Where the historical Pothi Khana is
situated?

(A) Alwar

(B) Udaipur

{C) Jaipur

(D} Jodhpur

UfreTire el e fog &0
(A) erer 4§

(B) sgagr o

(C) sy o
(D) g &

34

31

32

2% In which one of the following forts is

Jhaiibab Bavrl and Mamadev ks Kund
located 7

{A) Chittorgath

(B} Gagrongarh

{C) Kumbhalgarh

(D) Taragarh

RS TR ot Ry W ges B ¥ @
5 o R %7

(A) Tdeae

(B} Trriioprg

(C) grwems

(L) wrrs

Acgorciing to the Indian Constitution,
Rajasthan has been placed in which
category of indian States ?
(A) I category Part A
(B) II category Part B
{C) 1 category Part C
(D} Independent State
TRE WU § R TS o 6 %
@ ol & oo i < T 7
(A) wem gl A
By ey o B
(O @ g C
(D) =y o
Where was Sadhu Sitaram Das born ?
{A) Bijoliya
(B) Mandore
(Cy Tonk
(D) Bikaner
Y R 3 B S B e 7
(A) Rrsitfear
(B) 7=t o
(C) o
(D) dmrRT H

Who WaS the
'Sarnaraichchakahg' ?
(A} Jinapala

(B} Jineshwara

{C} Haribhadra Suri
(D} Uddyotana Suri
FUSeEEEl ® O T o ¢
(A) T

(B) e

(C) sfomm g0
(D) wEEew g

composer  of

[COMMON FOR ALL] | Conid...

33 Virstnagar was capital of which Janpad in

34 The Barn' dance which is famous in Alwar-

36 In which district the tourist place Achalgarh

82G4 |

PART-A / 9F-A |

[COMMON FOR ALL

Ancient India 7

{A) Matsya Janpad
(B) Rajnaya Janapad
(C) Shivi Janpad
(D) Shalvya lJanapad
g wred ¥ R few weog @) Teee
Ul _
(A) qe TO9E

(B) U9 W9

(C) e SR

(D) 9Ie SEYE

Bharatpur, here the word Bam means —
{A}) New crop

(B} Men's group

{C) High voice of Lord Shiva

(D) Nagada (Drums)

T IR W - # wig ¥l =
g ¥ o aney 27

(A} 7RI Buw

(B) yowl @1 W

(C) wrars firg @ 9ey W@

(D) =t

(A) Richard Bourke

(BY Col. Dixon

{Cy Lord Northbrook

(DY Lord Minto

T EAE H A B W7
(A) Fas %

(B wvw Tmm

(C) a1 -y

(D) @S fegy

is situated 7

(A) Udaipur

{B) Sirchi

(CYy Rajsamand

(D} Chittorgarth -

wfew wa sEane ey faer 5 Rug 37
{A) gL

(B) Ry o

(C) Towrde #

(D) Tedes o

Which Chauhan ruler got the Sambhar Lake
builf 7

{A) Gopendrarg]

(B) Durlabhraj

{C) Vasudev

{13} Vatsara

T HE @1 PRI Re TEE o g Rea
RN

(A) U

(B) T

(C) =rgEm

(D |

38 Anssagar is situated at -

(A} Ajmer

(B) Bikaner

(Cy Udaipur

(D) Jaipur
sreTarTy Re ¥ -
(A) st #

(B) dmrT ¥

(C) F=age ¥

(D) T

| 39 Jaisalmer fort is known by which name 7
35 Who was the founder of Mayo College ? |,

(A) Junagarh

(B) Sonargarh

(C) Lalgarh

(13) Dhulgarh

e B o ey W 9 S e 7
(A) ST -

(B) amTeTg

(C) AT

(D) e

4% Where the Chaurasi Khambhe ki Chhatri

(84 pillars cenotaph) is located 7
{A) Ramgarh

(B) Karauli

(C) Jaisalimer

(D) Bundi

o wel @ wall el fuw ¥7
(A) T

(B) &imr

(C) Sreera

(D) &
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OPTIONAL SUBJECT / Yafirs from B

-B-1] [OPTIONAL SUBJECT / Ymsfoes fws

|E§ga’;tﬁ€a§. Engineering / fga syl !?ART@-;@, /i

41 In Nyquist 53‘101_ of a system on adding 2 || 44 A controf sysiem in which the contro] action
pole at § = 0, then plot wilj - is somehow dependent on the output is 47 Two perfectly matched silicon transistors || 3§ In commercial FM broadcasting the
(A} remain unaliered knowm as - are cormeacted as shown n zagﬁ’“e The valus maximum frequency deviation is normalls
(B) rotate clockwise by 90° A };@”9"‘ System Ofé%e GWSQWL - %S_@g ayerefiE PV wERe & w”le ey g Rree
7y rotat iclookwise by C (B) Kl on svstem RS Hg"‘ YT R TSR B ¥
() m?a.e anticlockwise by 90° {ngrjgijS}ﬁi 00p ;S}St»:ﬂ; 3‘@'{% Ty ¥ R war § e ;3:%?“ HE T {-“? \ q}%{ ,%_ﬁ ¢
(I3} rowate by 180° (L) emi-ciosed loop sysiem ST - (A) 3 _KHJS
T S = 0 0w e e d cm o, || L o O tese (B 18 Wl
@ wite frer ¥ @ g o g@ﬁfmﬁa?’aﬁmwm%ﬁfw T }r}:’ _;g'k‘;;
. ) . LiF] L
(A) Rew {ﬁm‘gz}w RANARI RN i i L g
Y o L g T KO
(B) 90° % = & E’? Eilkred ELil (B)figw oy % 51 A gain of 108 tires in power is expressed
(C) 90° @ ugt @ ﬁ’:{f T S Rem O B o by -
(D) 180° (© ."4@5@{3 EAIRE P 106 qun gty &1 w19 (7)Y ST A weH
) 1eUT T (D) § 2% @ i\ T 3
o ' : N (A) 30 dB
42 The effect of Tachometer feedback in s || 45 Thq’uf’%oltage applied to 2 transformer ¢ B 10(}{}\j ; (B) 60 dB
coniroi system is fo reduce - prinmayy is increased keeping 'V/{' constant. 8 ’;’ v (C) 120 dB
(A Time constant Withthis "core loss" will - ' (D} 600 dB
(B) Gain fé)ﬁecrease and Magnetizing current I
{C) Damping wamill increases ﬁ 82 A modern power semiconducior device that
(D) Both gain and damping (B) Increase and I will also increase . combines the characteristics of BJT and
s womeh ¥ YT ufifeer @ g {C)Remain constant and I, will be (A) 0 mA IS MOSFET is -
' “gbnstant ) v ' (A IGBT
T HT BHCUE 7 B) 4.3 mA ‘
(A) Rert ¢ {D)»&Cfease and I_ will remain constant gCi w;_g A By FCT
SO T ST 5 Wl 3 e o e (D) 2.3 mA : (C)y MC1
(B e ¥ VA Rer k5 e o (D) 619 e
(C) &=dim i@l BT A ERT — 48 The Gate Impedance of MOSFET is s g e Eﬁ"ﬁ SR
(D) e \"S:flf? %@_’W ﬁ;ﬁ (A) "%— aﬂ.{. 1 —F@?ﬁﬂ BTy T appyg%{[ma?LEy - (Bll)y= W (P\fiGSFET) 3-‘9}5' G Teh M
B)TRm aﬁ*(? a3 ' MOSFET # 3 wltmnyy “"fé’f %’ SHIAT - forsnean o Wt &
, o Ay emE S E
43 The second derivative input signals modify ©; @H T O 1, Rerc <vm i ®) 1070 = ;{(B; Qr;;;aﬁ
which of the following 7 (‘))&gﬂf&ﬁ;‘ff{ T 1, ﬁﬂ“{ EEi h (B) 104 Mega O g EC} A
o T : iH T -7 NH
{A} The time constant of the system i (C) 104 milli O (T S el
(B) damping of the system 46 ghe crawling in induction motor is caused L) 0
i : ¥ - - . . . ,
(©) The g.a in of the system (A) Low voltage sunni 49 Most commonly used modulation system 53 The device associated with voltage
(D) The time constant and suppress the R 8¢ SuDDly for telegraphy is - controlled capacitance is a -
iflati (B) High ioad OF WIRraDhy P
ascillation FHgh 1oads (A) Multitone modalation {(Ay LED
e sty T2 R e et @ 4 (C} Harraonics , (B) Single tone modulation (B} Photo diode
e T S S & 7 (D) Improper design (€} PCM (Cy Veractor dicde
(&) T & wwa P @ 3 AT N e (o) 2k ¥ - ) o ) L (D) Zener diode
i , (A) P freew v & R T TR S 5 % S g P dufEa & o susor § -
(B) & % o § (B) v 7 2 & 0T, ] 3 s S 2 (A) g d (LED)
(C) @ & 5w & 4 (A) TR AR R
| - (C) erithom o owe & (B) AT 9 SrEgRYE (B) Wi Te
82G4 | ‘ : (D) 5 wE & (D) ST B
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54 A negative sequence relay is commonly

55

56

37

82G4 |

used 1o protect -

{A) an alternator

(B) a transformer

{C} a transmission line

{3} & bus bar

ey TS T YW @ G aER O
e G O RTT T WTET ¥
[A) FfFTIRT

(B) ghgwm

(C) ziafs™ @

(D) &9 9

Plug setting of a relay can be altered by
varying the -

(A) Air gap of the magnetic path

(B) Number of Ampere-turns

(C) Adjustable backup stop

(D} Size of the relay

T ol & W B wm % s
wiafia fear s @

(A) g ari & g sfaTe

(B) wimr-ad= @ g@n

(C) TuEg §H3Y =g

D) e & s

A mho relay is used for protection of -

(A) A transformer against external faults

(B) Long transmission Line

(C) A transformer against all the internal
faults and external faults

(D) Medium transmission length lines

TH =P o S gren g

ferar wan &)

(A) ZEwET o I=d wie & feg

(B) wel ZiEtay™ wEe :

(C) ghawry & o 3l o siale wie
% foes

(D) wegw iaihem g wigw

Air used in air blast circuit breaker must -

{4) be ionized

(B) be free from moisture

(C) have least CO,

(D2} have oil mist

e fers aftoe ¥ Ty -

(A) smafig B9 oiftg

(B) - @ o g+ @iy

(C) &7 ¥ &% CO, Tem B

(D) & g &

58 A balanced 3-phase system consists of -

39

60

61

(A} Zero sequence currents only

(B) Posiiive sequence currents only

(C) Negative and zero sequence currents

(D) Zero, negative and positive sequence
currents

Tp Wi 3-% o P s -

(&) W s w9 a9

(B) é e »9 wro §

(C) =wers T % 9 gl §

(D) sFu, ooUWes a9 uTaes oY aroel 8

In the case of transmission line protection,
over current relfay is used -

{A) Only up to 110 kv

(B) Only up to 220 kV

(C) Only up to 50 kV

(D) Only up to 1100 kV

R (TR e geen ¥ ot e R
w1 TUANT B -

(A) W% 110 kV o

(B) fak 220 kV @

(C) W% 50 kV v

(D) &6 1100 kV g%

A short circuit is identified by -

{A) Voltage rise

(B) Heavy current rise

{C) Voltage drop

(I3} No current flow

WY aiuy & A e mro B Y 7
(A) diwed 559 F e

(B) oiftrs & so% & e

(C) <ear i & srw

(D) o WA TR EE % Hr

Which of the following cireuit breaker is
used for railway electrification ¢

(A) minimum oil cireuit breaker

{B) Air blast circuit breaker

(C) SF,

(D) Bulk il circuit breaker

et & § B wibe e e safkfes
® guErh ¥ 7

(A) BiPmm offow oftee SaT

(B) wat = dlhe gwiv

(C) SF,

(D) oo aRIE e FaT

i0 | Electrical Engineering / faga aﬂy&iﬁ*@)
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62

63 The Snubber circuil is used in thyristor
cirenits for -
(A) Triggering
dv ‘
e protection
(B) 7 P
di il
{(Cy - protection
di
(DY Phase shifting
sreftet wike o wat gibe @ gaam T
SiGIR
(A) Tl &g
av
By — gL
(B) — Y &g
di
Cy o~ oge
(€) — T g
(D) =T BWRE g
64 The open-loop transfer function of a
feedback control system is -
I
Gisy-His)=" 5
(5—9—3)
The gain margin of the system is -
(4) 2 (B) 4
(C) 8 (D) 1 |
Wi dew e e AlT-NY gt
W -
{
Gs)-H{s)= 3
{s+1}
S @ i &
Ay 2 (B) 4
(C) & (I 16
82054 |

A chopper is & —

(A} Time ratio controller

(BY AC to DT converter

(Cy DO Transtormer o
(D) High speed semiconductor switch
o Tt TR S -

(A) zr TR e

(B) AC ¥ DC m=rlt

(C) DC ZaH

(D) o Ry sgdaEs Raw

65

87

i1

Which point of root locus specifies the
meeting or collision of twe peles 7

{A} Ceniroid

(B) Break awsay point

() Ssbility point

(D) Anti-bresk point

T Wi W R w Ry R g @ e ow
2w g @ Piiew s 7

(4)

(B} foom g

(C) R g

(D) T3 ke

With negative feedback in a closad loop
control system, the system sensitivity fto
parameier variations —

{A) Increases

(B)
()
(D)) Becomes infinite

e I WU el e ¥ AR weve o
e et Resrenal 3 T Ryew dRieeier-
(A) Sot ¥

(B) wed &

(C) = & el ¥

(D) oria & ot §

Decreases
Becomes zero

The most commonly used input signals in
control system ig -

{A) Step function

{(B) Ramp function

(Cy Accelerating function

{13y Impulse Input

Prizor e ¥ T @S YRS R S
T gge faw ¥ -

(A) ®Y G

(B) 7 vy

(C) Uemw e HurT -

(1) o g9
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68  What happens if load goes increasing of an |

6%

70

82G4 |

Induction Motor 7

(A} Power factor remains constant,

(B) Power factor goss on decreasing,

(C} Power factor goes on increasing till
full load,

{12} Power factor goes on increasing up o
full load and then it falls again.

i T §SEE Nl W WS ToRT G §, 6

ERII G

(A) T ST Rt T ¥

(B) ey $Fe gear W ¥

(C) ot Yo quf I T e e o ¥

(D) e ey gl vk @ wear ge onar &
T Mo wE 9w Pre smn ¥

Following Motor is used where high
starting torque and wide speed range control
is required -

{A) Induction Motor

(B) Single phase Induction Motor

(Cy D.C. Motor

() Synchronous Motor

Freafefia wirex &1 suam fear s ¥ vt o=g
JEeal e olit Rega wia S P 8
STEYTET B ¥

(A) ¥ TR

(B) wea w9 §9 #ey

(C) D.C. g5ex

(D) fimFm g

The shaft of an Induction motor is made
of-

(A) Stainiess steel

(B} Cast ron

(C) Carbon steel

(D) High stainless steel

ST AR W s fpeet o e ¥ 7
(A) &g €|

(B) @ (ewdl) wer

(C) = ®iw

(D) v Baey Wi

71

T

In a D.C. Machine, iron losses are
independent of variations in -

(A} Voltage

(B} Spesd

(C} Load

(L)) Speed and voltage

SdL A ¥ e R
& s ¥

(A) T

(B) wfy

(C) ws .

(D) e ol dew

In double cage Induction motor, rotor is do

designed 1o provide -

(A) Low starting torgue, with low starting
current.

(B) High stariing torque, with high starting
current.

{C) High starting torque, with low starting
current.

(D) Low starting torque, with high starting
current.

. TUW SV {3EIN WY &Y AT 39 WHI O b

73

& -

(A) e ortm 2%, B arifes ara wem
HET ¥t

(B) v= wiifvs =i, o= urifus g wer
HET T |

(C) v wifs o, v orifs o wem
T E

(D) Fr= s <%, o= 9 Y& uTO R
HEE |

The ficld coils of D.C. generator are usually
made of -

(&) Mica

(B) Copper

{C} Cast Iron

(D) Carbon

f{.é‘f. FHYEY % Wiee Bigwd EE U 9% 899
-3 §

{AY ave

(B) dfer

(C) e wier

(D) wr=

12 | Electrical Engincering / figa WWE’!}
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74

76

The process of converting A.C. irto D.C.
is called —

(A) Ampiification

o,
s
o

By Modulation

C
1 Faclorization

AC. " D.C. ¥ shai oo o) vl o &8
AT € -

(AY wauw

(B) Rrge

(C) Trem

(D) o

-

Rectification

o
[ N N

A single phase half wave controlled rectifier
has 400sin(314 1) as the input voltage

zid R as the ioad. For a firing angle of 60°
for the 5CR the average output voliage is-

e Ut sl el Pl sl @ g
@w 400sin(314¢) oft e R ¥1 SCR

& fog e e 60° % fay afrm sneege
Hwest € — ‘

(Ay 240/ %
(By 400/n
(Cy 306/m
(Dy 200/m

If T 15 the time period for a chopper circuit
and « is iis duty cycle, then the chopping
frequency is

ofe e Gy githe wremn Qs T o o
THH T WEE ¥, o S angla ¥ -

(A Top /O

(B} Ty /0
€ o/ Tor

(D) o/ Toq

il

78

79

il

For 2 push-pull converter, the filter
capacitor can be obtained as -

I £ S S VA . o
TH GI-UF wEe] % W (BT SUT @

qrE i RBamT W weE b -

f
A8
)

(B) Copp = U-DIVAV. L)
(C) Chp = (12DWVA2(V. -V

; Py
(D) Cp = O-2D3V/02(V, L))
MOSFET isused {07 e SWilching

frequency application.
(A} Very low

{B) Low

(C)} High

(D) Low or High

MOSFET o TR gy ampmam
& fw guom ¥ T s ¥

(A) 7T B9

(B)

(C) afims (s=)

(D) &9 o aud

Which among the following indicates carly
gftect in BIT 7

(A} Avalanche breakdown

(B} Zener Breakdown

(C} Terminal breakdown

(D) Base narrowing

e % 8 o w BIT F ot ghee aoian § 7
(A) rEwE IHETH

(B) AT dmEEw

(C) =hiwm Sosey

(DY & LR

In a 3-phase semiconverter, for firing angie
fess than 60°. the freewheeling diode
conducts {or -

e -G wdr et & e el e 600
T owH E, @ R Tl we g o

(A} 30° ' '

(B} 60°

(Cy 120°

(D) ¢°

13 | Efectrical Engineering / Ry w&m&aﬁ}
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81

8z

The leakage current in the fransmission
imes is referred io as the —

{A) Resistance

{8} Radiation

{Cy Conductance

(i¥) Polarisation

iy wige ¥ RS oY w eE wRET ¥ -
(A) s

(B) Yeoym

(C) wewdy

(D) SRS

For load flow studies, what are the

guantities specified at load bus ?
(A Pand V

C(B) Vand &

(C) Pand 8§
(D} P and Q

B T R —

83

84

82G4 |

FE T

(AY Palm Vv
B) Valir s
(C) Pl &
(D) Pt

The power which must be available ever
under emergency is known as :

(A) Spinning Reserve

(B) Cold Reserve

{C) Firm Reserve

(D) Hot Reserve

e ST S AT Rty ¥ o wwery 9 iy,
CERIGHEAE

(A) Tt T

(B) mivs frorg

(C) v Tord

(D) ¥z foom

On which factor corona loss dependent on?
{A) Material of conductor

(B} Diameter of cenductor

{C) Height of conductor

(D) Climatic condition only

BT g¥Ta e ¥ ¥ Rew e emenfia ¥ 7
(A) T® % FIEE U :
(B) = & U W

(C) T & FuE U

(D) e 9EE U

85  Which law is synonymous to the oceurrence

86

87

of diamagnetism ?

(A} Ampere's law

(B) Maxwell's law

{C) Coulcmb's law

(1) Lenz's law

viergaw @ wen few P & oqwrndl 27
(A) oioaT @ fPew

(B) Hawew = Frow

(C) gam &

(D) o« = Faw

Consider a circular coil of radius 7 and
carrying current 7’ as shown in fig.

T gOm@ $ee %) e v w Res frar
%, fored 7 e vaRe ¥

The magnet flux density at the centre of
coil is given as -

Y TS O T HSW o bl T 51 B 7
Hol

2r

o d

2y

2
Mol
21t
Hod 27‘
21

(A)

(B)

©

()

The unit of Poynting vector is :
{AY Power

(B} Power density

(C) Energy

{B2) Energy density

T G @Y weE §

(A) st
(B) s w9
(C) wet
(D) St o
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88

89

20
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used for -

Permanent magnet typs instrument may be || 93

(A) AC. only

(B) D.C. only

(C) Impuise quantities

(D) A.C. and D.C. both

QU e IS B WO el §
(A) TEIEEY U W W

(B) e a1q0 % 9§19 o

(C) zooew nwwel % oy
(D) woEdt 7 e o aR & "y

The output of LVDT is in the form of -
{A) Pulses

(B) High frequency signals

(C) Rotary movement of core

(D) Linear displacement of core

VDT a1 omsege frg w9 5 sRT T 7
(A) TGS

R) s gl aw frewe

(C) wre & gor T

(D) &It w1 Y e

For accurate measurement of low D.C.
voltage, which device should be used 7

{A) Small range thermocouple volimeter
(B} Hot wire instrument

{C) DC potentiometer

(I Small range moving coil volumeter
F G4 dRT & v um & g R
TUHCI /T TN frEr W adEe v

(A) BRI ¥F yHwE gReae]

(B) i 9% %l 9=

(C) S8 wRFsieT

(D) &9 I & g7 Hiad awedet

i3

93

The phenomena of "CREEPING" ocowrs in-
{A) Armmeters

() Voltmeters

() Wattmeters

{13y Walt hour-meters

% (Befi) @ wew B %

{A) THRT W

(B) dzlizy o

(C) grMET ¥

(D) w2 gz o

Relative permittivity may be measured by-
(A) Wheatstone Bridge

(By Hays Bridge

(C) Desauty's Bridge

{(I3) Schering Bridge

aer grees (Fefea kiR =t T sma
o

(A) FreeEm 9 ¥

(B) v8 ¥q ¥

(C) SR ¥g ©

(D) 9T ¥ A

ASA, 230V meter on full load unity power
factor test makes 60 revolutions in-
360 seconds. If the normal disc speed is
520 revolutions per kWh, what will be %
error 7

TE SA, 230V P FE T g I Heet
T miy W60 framgew wwar © o Read
360 ST w31 Al graree fews Wi
520 fraegem/kWh %, @ % R (error) B0
(A 0.10%

(B) 0.98%

{C) 0.42%

(I 0.33%

Candela is S unit of -
(A) Velocity

(B) Impulse voltage
(C) Lumihocus intensity
{(3) Force

e SI gﬁ?ﬁ T

(A) &

(B) oA A

(Cy & e ot

(D) g@ &
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95 A genductor carries a current of 8A and || 98 For the '
te (wo port network shown in figure
if iHagnitade of charge of an electron the Z-matrix ésr jjef {;r’ o s
e =916 x 10719 coulomb, then the number U R B
of ef’;e,m rons which flow through the cross Fom 3 forarg 7 - e & fog /S
section per second is — gy -
wm%%ﬁm%‘fa T Gl @ SISt
e =16 x 10" gaim &, o ey e & wiy i
I.
mmwm@mm- o ;i Z méwim
(8Y3.5 % 1019 < ©
(BY'5.0 x 1019
(CHR.0 = 1019
(D4 x 1019 Vi 2y \E
%6 Transformed impedance Z(s) for network
shmﬁmgiow is - 0> )
T e % Ry oRafte s -
Zﬁ}j% - r
Ok A Z Z
‘”J 50 30 (4) I+ Zy Zy
§ a0 .
< i 21 + 2
. 1H ® |, 2
i R 22
- [z Zp ]
© iz 7 +2Z5 |
4 [Z, <7 3
( ) _Zl Zl - 22_‘
98¢ For passive network, the coefficients of the

97 Determine the initial value [ (Q+), if -

R f(o*"),w_

2{s+1
F(s)=—atil)
SC+28+5
(&) 4
By -2
©) 2
Dy O
82G4 |

polynomials P(S) and Q(S) in the nerwork
function N(8) are -

{A) Real and Positive

(B) Real and Negative

(C} Complex and Positive

(D) Complex and Negative

uth iy Weed % TgvE e P(S) Ter Q08)
fory rad wew N(S) & foo A -

(A) arxifom s seeRs

(B) Ay auw womas

(C) wewr aon g=reEs

(D) wiew qur s
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Which of the following is not a per;sranem
magnetic material 7

(Le._\‘ﬁ {hrom: i steed

By “ilicon iron

{Cy Coball Steel

(D) Alnico

Srafylige ¥ © U U a@a‘iﬁwmﬁ?@f
7

(A) wiT &

(B) Tufret @

() ;@Fa“f““” i

(D) et (Alnico)

o

In their last orbit all semticonductors have—
el el ) o e HEd ¥ -
(A} 2 electrons (Za=2l)
(B) 8 electrons (SHE)
(C) 6 electrons (Fe@g)
(D) 4 electrons (FAERM)

The material from the following having
negative temperature confﬁcwm of
resistance s — :

(AY Aluminium

(B Copper

() Brass

{1}y Carbon
-%%%Qﬂqwﬁ%éﬁswgﬁfﬁammm
SUERE A G

if.ﬁx} QW

(By e

(Cy v

(D) e

For an insulating material, diclectric
strength and dielectric loss should be :
(A High and High

(B) Low and High

() High and Low

(DY Low and Low

e Brgams T & WY, oEeEeT B e
ud ordeTEe YR W gHEW BT -

(A} TE ol T

(B) ®% S vame

(Y W oY &R

(D ww Al ww

184 All magnetic material lose
mf}ptmac, when

> their magneiic

(AY Cooled o low temperaiure
{B) Hesa

() Kepa i Aluminium box

ed with high temperature

(D) Kept in Vacuum

ATy ey Tant gy % TE e B e
(A} B% ¥ wH OIEE UX

(B Sorer w99 q¢ o e 9

(C) miires sE ¥ Y@ W

(D) dwgm F @ W

165 Mild stesl have ~

(A) 0.1 10 0.3% carbon + 99.7-99.9% iron
(B) 99.7 to 99.9% carbon + 0.1-0.3% iron
() 50% carbon + 50% iron

(D) 17% carbon + 83% iron
e W H -
(A} 0.1 § 0.3% & + 99.7-59.9% s
(B) 99.7 & 99,9% waa + 0.1-0.3% e
(C) 50% mrEs + 50% T
(D) 17% @RA + 83% HFREA
186 In order to get best resulis, indicating
instruments are —
(A} Overdamped
(By Underdamped
(Y Critically damped
(I L

Dramped slightly less than the crifical
value

arers] QIO T N % mW W, Widim eue e

B
)

¥
(A) sifqeramfea

(B) oregsrasifag

(C) wim i

(D) wifes % & oiey w9 wgdky
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107 Superposition Theorem is not applicable
for-
{A} Voliage calculation

(B} Bilatersl elements

{C) Power caleulations

(i3} Passive elements

queitasm v Reeds fre e § 0

(A) TEeS oy o

(B) audw aw

{(Cy wraT &y e

(D) Fieme aw

108 in series RLC circuit at resonance
frequency, current will be :
{A} Minimum
(B) Zero
(C) Same as normal state
(D) Maximum
UH Wi RLC wfbe & Wik deadl o
ST W1 A BRI
(A)
(B) o=
(C) et

(D) e

103 A 450 €2 R, is connected across a voltage
source Ve = 150 V. The source’s internal
resistance Rq is 10 (2. What is the output
voltage across the load ?

T 490 Q2 B ws (R,). 150 @ ¥ 6 &
iz # 91 g &1 Ha @ aiele whidy R,
10Q ¥ o % oweyz d@iwew Wy ey
(A) 150 V

By oV

(C) 147 ¥

(o 3v

116 Which of the following power plant has
ieast efficiency ?
{A) NMNuclear Power Plant
(B) Hydro Power Plant
(C}) Steam Power Plant
(I3 Diesel Power Plant
gﬁém-sﬁﬁwzﬁrewmwﬁéi
7
(A) e gifeg dom
(B) wraw sk gy
(C) v gifey
(D) e gl s

#82G4 ]

| 181 Feeder is designed mainly from point of
view of :

g (A} Tis current carrying capacity

{B) “oltage drop in it

('} Operating voltage

{2} Operating frequency

B g W PR g & e 2
(A) g9mt 81T wes s

(B) & 9w @ Prear

(C) wrimr deem

(D) wrerll srghy

112 For a particular system corona loss at
60 Hz is 1 kW/km per phase. What is the
corona loss at 50 Hz in kW/km per phase?
uh fadw d% % faw e il 60 Hz ut
D kWikm vfy % €6l & @ 50 Hz o3
B kW km Ry Yer war 2 ?

(A) 0.88
(B) 1.0
(C) L.13
(3 1.2

113 Choose the correct schematic arrangement
of nuclear power station,

(A} Nuclear reactor, heat exchanger, steam
turbine, alternator

(B) Steam: turbine, alternator, heat
exchanger, nuclear reactor

(C) Steam turbine, heat exchanger,
alternator, nuclear reacior

(1) Alternator, heat exchanger, nuclear
reactor, steam turbine

T {eee W @Y Wl g sgaen gy |

(A) oy R, Jre eRie, v Tean,
FEETATL

(B) w9 TS, SeeTHeT, O CHRTET, A
Ry

(C) e Zeare, ATy qen, SRR, TYE
frowex

(D) TN, a9 THESR, TomY Rueey,
Y SYETES
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114 Ampere circuital law states that

wftpre @ aierdy Prae @ o

wy [Hedl=1

B) GH-di=1
(Cy VxH=1
(D) V-H=1

115 A cylindrical bar magnet is kept along the
axis of a circular coil. If the magnet is
rotated about its axis, then
(A) An emnf will be induced.

(B) A current will be induced.

(C) No current will be induced in the coil.
(D) Cannot be defined.

T YEFIHER TGS G T gl o gl
& wie e el €1 oul e e gt W
gl WY, W -

(A) TE 3uuE. wRa eel

B) o uhe

(C) gea ¥ = ara sie &

(0 ofrnie =1 frar =1 gl

116 A hollow metallic sphere of radius '#' is
kept at potential of 1 volt. The total electric
flux coming out of the concentric spherical
surface of Radius R (> 1} is -
Byl ' o1 e Ergen a1y &% 1 Eee @ e
¢ v 5o ¥ B R (> ) & i e
Toe § Premm O o oEd TR BT -

(A)
B

dre, &

dne,r

dme, R?

) dme, -

117 If a copper conductor is moved across a

magnetic figid —

{A) The copper wire becomes magnetic
(BY A voltage will be induced (n the wire
(Cy A current will be induced in the wire
(I} Nothing will happen

aft us TR e e 3 % AU
WY WG S5, W

(A) T w1 AR GEH T W

(B) =T ¥ fywa wha ow

(C)y =T ¥ wrq witw eely

(D) g o1 T BT

118 Which one of the following is the reciprocal
of magnetic permeability 7
(A) Reluctance
{B) Permeancs
{Cy Susceptibility
{D} Reluctivity
i ¥ B9 U WOnHE 6 e &7
(A) iy
(B) ermlesierar
(C) dagasiwa
(D) sfasEhmn
119 The current induced in the rotor conducters
of single phase induction motor has such
divection, which @
{A) supports stator mmf,
{(B) opposes stator mmfl
“(C) supports in positive half and opposes
in other half cycle of current.
(D) Mone of these
R Gper gwaym (Seor) e ¥ (e dweeT
T HT @ fRen 3w v o @ i aw
(A) @ WLUA.UE. F FEEH HIAT
(B) et w.0E.u%. % Hhy w9 §
(C) wrar % e W § weaT wXa ¥ 0l
e war ¥ frdy war
(D) T Q&g

128 In super conductivity, the electrical
resistance of material becomes :
{AY Infinite
(B) Finite
(L) Zevo
(D) Negative
Yot Fefrfed §, oy o wkrde gk §
{A) IS
(B) Sfg
(C) =
(D) ST

82064 |
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121 A Bell-Coleman cycle is a reversed - N T
{A) Carnot cycle 1 e 124 %Y%Cﬁaﬁoﬂ 15 - 128 Objects that are symmetric can be shown || 132 All the axes in the 3D coordinate system
(B) Joule cycle Ay RS ® - effectively using this type of section - meet at -
(C) Otto cycie (A) PV =naRT (A} f}}u;};z;tez' s:eminn §A> 602 ﬁmg?@.
(D) Stirlling cycle (B PY =mRT i?‘f ?a}i;: fS&Cl’E-i{}ii :(E i ‘;};Obg;gie
dF-predT T E Y omyR (Cy Full section (Cy 120° Angle
. 3 o ¢ © »pvi=c : (D) Symmetric section (D) 135% Angle
ig - @) Cp-Cy =R e g W i o Wl e W 30w won F we o ot e ¥
qﬁ BEd € e T = ;"&?@ Ry Lithl -
o et 125 Which of the following has least magnitud SR 20T ST R B R R (&) 60° B
{C) offer Om e gnitude 37 : _
o _ of conductivity ? - ) (By 90° ®mm
) EeRiT (&) Glass () Har T (C) 1200 BT
(B} Water (B) argd wm Y 114
S < 1359 @ioy
122 Second law of thermodynamics defines - (C) Plastic (C) gt wF o
(A} entropy {0} Air (D) wofog o g _
(B) enthalpy : ﬁwﬂ?ﬁ’ A ¥ feua awdal @ wi ey ’ 133 %I;; ,juiezﬁﬁ‘;x) 2;1 obiects are drawn on the -
: ‘ ‘ Y7 plan
(C) heat T 5 %ﬁ‘* %ﬁ 129 A full scale technical drawing will have a \B) 7 pl
{3} internal energy (B) ;FT;?{F scale factor of - ( oy Ky pf?e
S 1 g P o T d | (0 o ot oy ot Y A | () O P |
A) Tl ' — N o
Eéf o @) T zi??ﬁ sirers & e el @ Rt e B
(C)y i 126 Two plates spaced 150 mm apart are (By1:2 (&) YZ =
{D} PR maintained at 10800°C and 70°C. The heat G 2:1 (B) XZ @
transfer will take place mainiy by - (D) 1:4 (Cy XY &
{A} Convection ' D) ZX B
123 A perfect gas for Boyle's law is - (B) Radiation 130 Produsing computer generated drawings is N
BV, (C) Forced convection - C;;eéung PUIEt BERETEEs s _f'i% - ¢ section Is limited by a brea!
(A} = = —% (Temperat . (D) Free convection : _?“ ) 7 g 1S type of section i3 hmited Oy a 6reax
B (Temperature is constant) 2 W T gEL 150 e 8 ¢ 10000 Wi@ﬁgﬁgﬁﬂﬁwmw% ? ling - | |
P ” #9700 48 a oFRRad ¥ 1 e (&) *»;AD (A) Removed section
(B) 2L AL . , R gEEae {5 g dn v By Ci¥ (B} Revolved section
H 5 (Yolume is constant) (A) Hers . (C) CAM {C) Broken-out section
o7 (B) oo ; € (D) GP5 (D) Half section
<=L : (C) voiifem wamw | TTeTY BT ST U e SR AT i &
<) v o (Pressure is constant) {D; e wEE 131 For two parts (3D solids) that will fit i} S - 'im \'Sﬁ:‘:m i n
™ N . : together without any interference, what 30
(D) ;Jge ;f these 127 Compaie'd to parallel flow heat exchanger, AutoCAD command would you use ? (B) i e
U forg s frm ¥ LMhTD in case of counter-flow heat (4) FIT (C) TIS-TES NI
B 7 ceanger 1s - (8) UNION (D) o ST
AY i om oL AY lower P
" Y (amr e %) §B§ higher (C) INTERSECT
(C) same (D) INTERFERE || 138 The edges of a cube in isometric projection
B A_5 (D) unpredictable # 3D (W) wew & e e el & make angles of this degree with each other-
(B) B T (erre® RyT §) &7 were e ey & goer € ol gew fire w1 & foe B = 3D AutoCAD wwie sreaRtie Demm ¥ T W T ow guy
- T fFmiE ¥ LMTD 8id & - Todpr HE 7 ¥ oy T Bl % @ s ¥ -
a.i (A) &9 () ez (FIT) (A) 300
e S }
© 7y 77, @) (B) w1 (B) g (UNION) (B) 900
(D) T & #¢ =& (C) = ) gedee (INTERSECT) (C) 600
' (D) ST (D} 3=t (INTERFERE) (D) 120
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136 The emissivity for a black body is -
GO BOE o SeaeredT B ¥ -
(A) O
(By 05
(C) 6.75
Dy 1

137 The ratic of linear stress to linear strain is

known as -

{A) Poisson's ratio

(83) Bulk modulus

{C) Modulus of rigidity
(D) Modulus of elasticity
e o & Yages feama % s wy o
EIGIER

(A) uigET &1 SuE

(B) s uraie

(C) warcw Al

(D) wfaear maies

138 Hook's law is applicable upto -
{A) Proportional limit
{B) Yield point
(C) Elastic limit
(1) Point of failure
% @l e @ e v
(A) sl €
(B) ov &g @&
(C) wfyear 9 95
(D) Awear g am

132 The relationship between Young's modulius
(E), Bulk modulus (K) and Poisson's ratio
(1) is given by -
i e (), T A (K) Sl e s
(1) @ &g gew & -
(A) B =2K (1-2u)
(B) E=3K (1-2p)
(C) E=2K (1-31)
(D) E = 2K (1-414)

82G4 ]

1484 A cantilever of length / carries 2 uniformly

distributed load w N per unit length for
the whole length. The shear force at the
free end will be -
U [ wRE W e BE T w sl @l
AT wY F Rl e ol wmE o sy T b
ST & W WIT U OETT €6 RpEen g 7
Ay wi

2
w/
® -

wl
(© =

(D) Zero

141 The unit of Young's Modulus is —
(A m/m
(B) kg/em
(C) N/m?
(B} kg-cm
T Wi & ARG BT © -
(A) Br/fr
(B) T /o,
(C) =gzwyan.?
(D) ferar.—a=.

142 The bending moment at a section, where
shear force is zero, will be —

{(A)Y Zero

(B} Maximum

(C) Minimum

(D} Either minimum or maximum

TF YT WEl waca 96 9 ¥, gl die amgl
B~

(A) 9=

(B) atimmam

(C) =g

(D) ur & =Faw o wiean
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143 The axis used to show depth in AuloCAD

is the -

(AY Weaxis

(By Xeaxis

(C) Yeaxis

(D Z-axis
AutoCAD o 75T’ ¥ g e Tudm F @
o
(&) W-3H
By X-arm
(C) Y-wg
(D Z-3%

144 The type of line that projects from an object
for the express purpose of locating a
dimension is a line.

{(A) Visible

{B) Hidden

() Extension

(83} Dimension

% @EY 9 obiect ¥ space WEHY dimension
line ¥ &T8C @i W% @il @ ¥, weeEr 3 -
(A) weer WiEH

(B) 79 wEd

(C) Traha amm

(D) ufremg wEw

143 "Energy can neither be created nor
destroyed but can be converted from one
form 1o other" 15 inferred from -

(A) Zeroth law of thermodynamics

(B) First law of thermodynamics

() Second law of thermodynamics

(D) Basic law of thermodynamics

et W A S W weaT ¥ el W o wa
g =11 woRdT ¥ OUY UF B ¥ @ ¥ wami
Trm w1 wewn ¥ 0 9 e Ree frow §
GUIDIE T I

(A) weTafes & s From

(R) womafer & gaw Froy

(C) wwnEfeE & ey P

(D) wengahe &1 qase Prw

8254 ]

146 In an isothermal process, the internal energy
of gas molecules -
{A} Increases
(BYy Decreases
(C} Remains constant
(I3) Mone of these ‘
U G e % we @ el
Sl g s wE w7
(A) wE ¥
(B) ==t ¥
(C) feorr @ ¥
(D) & & &g =

147 Saturated liquig or the saturated vapour has
how many independent variables 7
T a U Oy 9 6 e mEm I E 7
{Ay 1
{B) 2
€3
(D) 4

148 5.1 unit of enthalpy is -
s o womer (8.1 ® ol & T
T -

(A Vm
" (B) JK
() Jkg
D) K/

149 The unit of length in S.1. unit is -
(A) Metre
{B) Ceniimetre
{C)y Kilometie
(D) Millimetre
S.1 go W wan o 3oE ¥ -
(A) #r
(B) ey
(C) Tmamey
(D) PRt

150 The ratio of two specific heats of air is
equal to -
ECHE AR A e b e R T
(&) 0.17
(B) 0.24
(C) 0.1
(I 1.41
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i51 A body reflects entire radiation
incident on it.
(A) transparent
(B} black
(C) gray
{13} white
b e s wnged Rafeer &Y vty W A B
(A) wHEss
(B) »m@r
©) ¥
(D) &%

152 Thermal conductivity of water at 20°C is
of the order of -
200C gt oy @ Trdvy e
W H T |
{A) 0.1
(B) 0.23
(C) 042
(D) 0.51

e,

183 Emissivity of a white polished body in
comparison to a black body is -
(A) Higher
(B) Lower
{C) Same
{D) None of these
TF S G & ge ¥ U e qitwsT uard
& T & -
(A) SE=RX
(B) =%
(C) 5aEy

(D) T8 § =% 78

154 Convective heat ransfer coefficient doesn't
depend on -
(A) Surface area
{B) Space
{C) Time
(D) Orientation of solid surface
- e T sEew e 9 Pl
EECTGIE
(A) GaE &=
(B) wiats
{C) w91

(D) 3G TIE & WD

82G4 |

155 Thermal conductivity is maximum for

which substance ?

(4) Silver~

B) Iee -

(<) Aiuxﬁ‘imum

(D) Diamend

frg el & fw oy mwemar eiftas T v
SR

156 The heat transfer takes place according to-
(A) Zeromf iaw of thermodynamics
(B) F;rsté;m of thermodynamzcs
') Kqugigoﬁs law
T et g & fe fEm & omE -
(A) Tl & g P
(B) witiget & yea Prm
(<) E@ﬁﬁ?ﬁ?’r % Tedm Fraw

157 The rate of heat flow equation is

——MWMKA{?] _’5%)__ The term

KA

Q= “ is
-

known aé‘;:

(A) Thefiipl coefficient

(B) Thermal resistance

{C) Thermal conductivity

(I3 None of these

KA(T -T
T ETE HATBLT szwm——(f 2) o

X

HW%W
(A) ardiy wauran
(B) ardrg wfeay
(C) aidr =

(D) T ¥ #F
24 | Mechanical Engineering / 2 Hﬁmﬁ%&%}
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188 Which of the foliowing has no unit ?
(AY Kinematic viscosity
{B) Surfacs tension .
{Oy Bulk modalus
(D) Steain o
Frafafes & § Reuel 'T&&W Ty 7
(A) Yo TouRromee
(B) Tos T
(C) 9w =rafes
(D) g51] (Strain)

The value of Pmssons remo for steel is
between -

(A) 0.01 to 0.1

159

g"

(B) 0.23 0 0.27 ,
(C)-0.25 10 0.33

(D) 0.4 to 0.6 L
@m%mwaﬁﬁ%é‘rwm%—
{(A) 001 9 0.1

(B) 0.2390.27
(C) 0.25 T 0.33
(D) 049 0.6

160 When a material can und@rge a deformation
without rupture, it is caﬁe@

(A) Malleability ~63

(B) Duetility

(C) Tenacity

(I3) Brittleness

oz o e aron e ¥ e @ gw o
fergerr &) wren &, e ¥ -

(A) pEgar

(B) w=@

(C) &

(D) e

€

82G4 |

161 The depth of cenire of pressure for an
immersed surface inclined &t an angle §
with the liguid surface lies at & distance
equal ________ the centre of gravity.

, Igsin’®

3 - halow
A%
‘;G sin® .
(B) o Belnwy
AX
C AX b
e ahove
© He 5in” 9
©) Ax b
above
I;sin@

79 TOE ¥ § B UT T T T% & ¢ B
¥ o %R % WY LU By ¥ -

I sin’ 9

e Y
AX

(A)

jG sinB
AX

Rl

(B)

AX

C A TR
© IGsinzﬂ

AF
I;sinb

(1)

162 According to equation of continuity -
T FAO % STTETC —
(A w8, = W, &
By w;v;= w3 vy
(C)a;v,=2yv

(D) ayfvi=ay/vy
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163 Resistance to fatigue of a2 material is
measured by -

(A} Young's modulus

(B) Bulk modulus

{Cy Elastic limit

(D) Endurance limit

ol T ¥ wdm @ sty Reed aw A
w7

(A) T7 e ®

(B) s amie ¥

(C) very (wfgwan) amr &

(D) w=gtw @ §

164 The sleeve or muil coupling is designed as
(A) dun cylinder
(B) thick cylinder
(C) solid shaft
(D) hollow shaft
T a1 A YT B 0B % w9 § o fear
L
(Ay &7 fadisy
(B) = fiese
(C) 3w v
(D) Erge §Te

165 Calculate the torque which a shaft of 3 cm
diameter can safely transmit, if the shear
stress is 48 N/om?.

UE 3 om =G @l v T 9T aTgene gl
48 Niem? &1 381 8, fonemr sranget gefis =g
T walie BT geaT ¥ 7

(AY 271 Nem
(B) 817 Nem
¢y 54 1 Nem
(D) 487 Nem

82G4 |

166 Jet engine works on e . cvele.
(A} brayton
(B) dual
(C) diegel
{13y ot
W FO (T = wT w e § 7
(A) TR
(B) =@
(C) ¥
(D) ey

167 In an axiai flow compressor, the pressure
rise ocouwrs in -
(A Fixed blades only

(B} Moving blades only £
{C) Both fixed and moving blades :
(D) None of these
U AR wEE dvet ¥ @ ghe ekl ¥ -
(&) #ww Bprgs (v9) =g 4
®) Faw <hm = 4 |
(C) Rews si e @, F &
) 779 9 g T8

168 Which component of a gas turbine
CONSuMEs maximum power 7
(A) Starter
() Regenerator
(C) Compressor
(D) Combustion chamber
T TERT & fea uem ¥ aftmem il s
A 7 \
(A) ®EY
(B) famrer
(C) @uey
(D) =7 =9

162 Volumetric efficiency of air compressor of
the order of -
1Y HR Y AT G ..o
IR
(A) 20-30%
(B) 40-50%
{C) 60-70%
(I 76-90%

WY
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178 A centrifugal compressor works on the

wrinciple of -

{A) Conversion of pressure energy inio
kinetic energy

(B) Conversion of kinetic energy into
Dressure energy

{Cy Centripetal action

(D2} Generating pressure directly

e HEETCE HIIT e B (ST T

B FET T |

(A) TR SE W TS Sal 6 wah

(B) gEg Swl § TOw S 1 eua

(Cy ermarrer Taen

(D) oY '@ I B

171 The saturation temperature of steam
increases with pressure increase -

{A) Before slow and after fast

(8B) Linecarly

(C) Before fast and after slow

{I3) None of these

w9 & TgW qEeT 2 ST & WY gl § -
(A) wowr T v AT W @

(B) aw wy §

(C) weal sl & fsy G0 §

(D) 399 ¥+ el

172 Steam superheating is done -
(A} At constani volume
(B} At constant pressure
{C) At constant temperature
(D) At constant entropy
WY T ST e S & -
{AY Rt awmaw uy
(B) Rt a@ W
(C) Rt omuam ¢
(D) Rer wrrdt wx

82G4 |

173 Fluid is a substance which offers no
resistance io change of
{A) Pressure
(B} Flow
{C) Shape
(I Volume
FET e GO wER € oW gy ¥ Reed v ¥
gy v W w7
{A) Teng
(B) vaw®
() omeRTY
(B) e

174 Which of the following is the unit of

Kinematic viscosity 7

{A) Pascal

{B) Poise

{C) Stoke

(D Faraday

T § ¥ wmm O Akl s W geE
g7

(A} uTER

(B) wizg
O =&

(D) s

175 Which one of the following is not a unit of
dynamic viscosity 7
(A) Pa-S
(B) N-s/m”
(C) Poise
(D) Stokes
frefefem 4 @ o @ TR wear & TEe
TR
{A) Pa-§
(B) N-s/m?
(C) <igg
(D) &%

176 If w is the specific weight of Hiquid and h
is the depth of any point from the surface,
then pressure intensity at that point will be
afe w e a7 o ol 9w § @ hooes
4 fordl g &1 mevd &, o ow Rig wwam A
dreren o BN P
{A) h
(B) wh
(C)y w/h
(D) hiw
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177 An ideal flow of any fluid must fulfill the

178 Umt of mass density is -

179 An ideal fluid is -

180 Density of water is maxinuim at —

foilowing :

{A} Newton's Law of motion

(B) Newton's Law of viscosity

{C) Pascal's Law

(D) Continuity Equation

et o orew wErd o O onest wav PRl
(A) 7y @ ofg @ Rag

(B) wew o foufawez @ Fom

(C) wrme & Py

(D) wwrey gty

FRAT U Bl FHE & -
(A) ke/km

(B) kg/m3

(C) kg sec/m*

(D) kg sec¥/m*

{A) one which obeys Newton's Law of
viscosity

(B) frictionless and incompressibie

(C) very viscous

(1) frictionless and compressible

e sest T wared aw ¥ -

(A) oIt =za & faufoume & few e wee
HQATF

(B) w s oliv erddsy &

(C) & 959 fwfrw =

(D) =it =owr T o fagrsr gam &

18% Davis steering gear consists of -

{A) sliding oairs
(B) tumning palirs
(C) rolling pairs
(D) higher vairs
(A) wEEY g
(B) = Wiy
(C) T Wiy
(1) wea s

A kinematic chain requires at least -
(A) 2 links and 3 turning pairs

(B} 3 links and 4 turning pairs

(C) 4 links and 4 turning pairs

(D) 5 links and 4 turning pairs

TE IS AW B WY § w8 snageE
Bl & -

(A) 2T ofit 3 wig 9

(B) 3 s oin 4 91z &R

(C) 4 vw ol 4 955 o

(D) 5 fWs 3 4 A% R

183 In a single slider crank chain is -

(A} Each of the four pairs is a turning pair

(B) One is a turning pair and three are
sliding pairs

(C) Two are turning pairs and two are
sliding pairs

(D) Three are turning pairs and one is a
shiding pair

T R B A A -

(A) wems S Sy g WIS B &

(B) wo A g o W gy ot Wi

184 The relation between number of pairs {P)

forming a kinematic chain and the number
of links {/} 15 -

E e (wEdEn) 99§ wivdl o gen
[ aor gl @ e P % 4 gy B -
(A I=2P-2
(By I=2P-3
(Cy I=2P-4
M I1=2P-5

The product of force (F) and time () is
called as -

(A) Momentum

(B) Work done

(C) Impulse

{3} Pressure .
W (F) T G0 () & TEEH B 29 Q we
S E -

(A) e

(B) Tpor wrur o

(C) W

(D) zam

186 An axial How compressor have -

{A} a drum type rotor

{8) a disc type rotor

{C) a drum type rotor or a disc type rotor
(D) None of these

@ i waE Hoew ¥ g © -

(A) e g9 WX &t guim

(B) & & TeR & %

(C) U g9 Uhi{ &7 gUIG 1 U 156 ST &l

BN
D) 7 ¥ &g T2

187 In order to avoid cavitation in centrifugal

pumps which one of the following helps ?
(A) Low suction pressure

{B) High delivery pressure

{CY Low delivery pressure

(D) High suction pressure

188 A hunting governor is -

(A) More stable

(B} Less sensitive

{C) More sensitive

{(I3) None of these

um Eem T ¥ -

(A) sy Ry

(B) =n saeasiw

(Cy oy ddasie

(D) &= 8 o =8

188 In case of rolling of a ship, the effect of
gyroscopic couple on the body is -

{A) Maximum
(B} Minimum
(C) No effect
(D) Average

T SERT % Hod o (0l ¥ SHe guE ww
T GRS G W1 g9 g § -

(A) arftrenaw

(B) Fmm

(C) =% g =
(D) elrea

190 The height of a Watt's governor is -
(A) directly proportional to speed
(B) directly proportional to (speed)?
{C) inversely proportional 1o speed
(D) inversely proportional to (speed)?

iz aftfrise @ S ¥ -

T H R st € B0 % sy dy ¥ ST B Ge ¥ R T el :
{A) 0°C (C) < go1E WY 37T 57 wie areh el %7 (A) i o e g
(B) 0°K ¥ (A) &9 g5 719 B) (kn)? = g wommd
() 40C (D) & g7 S ol o T TR S %Wﬁ%mzfﬁm (C) R o sgerTed
HH HES
(D) 100° C T (D) et s (D) (@Fn)? & agoramard
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1#1 The rotor of a ship rotates in clockwise
direction when viewed from stern and the
ship takes a lefi turn. The effect of
gyroscopic couple acting on it will be -
{A) To raise the bow and stern
(B} To lower the bow and steen
{(C) To raise the bow and lower the stern
(D) To raise the stern and lower the bow
T e A et 9% 3 Tew 9T airomad g
# o &1 97T ST SR o gwen & o s
TOEE A geferes wemet @ o e
&7
(A) ot & I a1 Re 397 wur 29
(B) ¥t R 9% w1 fewr S AR ay
(C) o &1 fomw wx o 9 & et S99

Bl
(D) % &1 fown S e o w fea 99
Bl

192 Purpose of using differential gear in
automobile is to -
(A} Control speed
(B) Avoid jerks
(C) Help in turning
(2} None of these
e ¥ fries (Rwkfomm) frr o suam
B & FEe & -
(A) afs e
(B) % ¥ Ty
(C) s ¥ #ag oeg ¥
(D) ¥ @ = =

193 Which cne of the following effects is more
dangerous for a ship ?
{A) Rolling
(B) Steering
(C) Pitching
(D) Waving ‘ ;
Frefifas & & 9 71w s i e
[CORGIE Ik
(A) fem
(B) wmftr
(C) Tl
(D) wewd
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194 Which of the following parts of piston act
as bearing for connecting rod side thrust ?
{A} Ribs
{B) Piston barrel
{C) Piston pin
(D) Piston skirt
wﬁ%%%gm%%:ﬁ@“wrﬁ”m
WY e s ¥ 7
(A) ayfmr
(B e
(C) frew U
(D) Frew wd

195 The endurance limit of 2 material with
finished surface in comparison to rough
surface is - {
(A) more
(B) less
(C) same
(D) unpredictable
A = Rt wo @ gee & dare waw % any
wEEf g drew derd -

(A) e
(B} =w

(C) =&

(D) s

196 The notch angle of the izod impact test
specimen is -
Izod g wliem s w1 opmer W &
(A) 10°
(B) 20° {
(C) 30° "
(D) 450

127 In a gear, having involute teeth, the normal
to the involute is & tangent to the -
(A) Base circle
(B) Pitch circle
(C) Addendum circle
{D} Dedendum circle
um FET ¥, 2 ) il & o @ B9 g um
Wl TE ¥ -
(A) sma Om
(B) firr &1 8
(C) withre =g
(D) = am
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198 The size of a cam depends upon -
(A) Base circle
{B) Piich cirgle
(C} Prime circle
(D) Pitch curve
TH B AR P weE §o-
(A) ST 5
(B) g = 90
(C) vuTT =
(D) f& =

199 Permancnt fastening is called -
(A} Bolts
(B) Rivets
(C) Screw
(D) Keys
wl Rere deaar ¥ -
(A) g
(B) fg=
(©) =
D) =i

200 If C is spring index, then Wahl factor is

o AC-1 0613
S C

4{7—}+0v615
4C -4 C

4C +1 . 0.615
4C ~4 ¢
() None of these
gfe C R 3w & o m (Wahl) ey
-
4C -1 0.615
«{.
4C+4 o
4C -1 . g.615
(
B) 4 -4 ¢
4C +1 . 3.615
4C -4 i

(B)

©

(A)

()

D) =% § o5 =f
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